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Paper 1
Easy Level

Read the following instructions carefully:

. The test has 10 questions in total and you have 8 minutes to
complete it.

. This is a multiple-choice test.

. Work as carefully and as quickly as you can.

. Answers should be marked on the answer sheet provided and not
on this paper.

. If you make a mistake, rub it out completely and put in your new
answer.

Good Luck!
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Instructions:

Which one comes next?

Example:

CHOCOLATE
BAR
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Answer: RallEs
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Explanation:

The story sequence explains the process of opening and eating a chocolate bar. The
next logical step in the story sequence would be the empty chocolate bar packaging.

Therefore, the correct answer is C.
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ANSWER SHEET

Pupil’'s name: Date of test:
School name: Date of birth:
Instructions:
Mark your answers like this: A ———
Example Q1 Q2 Q3 Q4 Q5 Q6 Q7 Q8 Q9 Q10
AC | |ac| |ac—| a0 |ac| A |AC| |AC | |AC| |ACO| | AT
B J| (B3| |8 || |8 |8 || |B—||BC—J||BC—J||B
Crm=| |cr—||cc—||c—| |c| |c—| |c| |c—| |c—| |[c—| | c
o J||oc—||oc—| |oc—| |o—| |p—| |p—J| |p—J| || |pC—| |
eIl |ec| e |ec | |ec| e eI e | |[ec—I| || |
THE END
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